2 REARE=SIVBRERR

i LT #55E (Ba/ke)

No | siEEtk | AR | wErH | . AP | FEER G RE RE% P L) R, B par | BRE 0 BR | oois | cerwr | osant
1 %f*ﬁ oy | BER rEMm — I REY 2avH — BERRERE V- Ge H259.5 | H25.9.11 <48 <47 <9.5
2 %f‘;%;yj BRR | &FERE — FEE REY woLIYY — EREREERE VS Ge H25.9.10 | H25.9.11 <45 <39 <84
3 %f*ﬁ oy | BRR | RBRENRH — I REY HYYRSE — BERERERE V- Ge H25.9.10 | H25.9.11 <36 <28 <6.4
4 %f‘;%;yj BRR | &FERE — FEE REY FrRy — BEREEREtVY— Ge H25.9.10 | H25.9.11 <57 <57 <11
5 %f*ﬁ oy | BRR | RBRENRH — I REY e — BERRERE V- Ge H25.9.10 | H25.9.11 <52 <41 <9.3
6 %f‘;%;yj BRR | &FERE — FEE REY = — EREREEREG VS Ge H25.9.10 | H25.9.11 <52 <40 9.2
7 %:%E vy | BER ARl — FeiE R REY TR — BERRERE - Ge H25.9.11 | H25.9.11 <46 <38 <8.4
8 %f‘;%;yj BEER Bl — FEE REY HYRME — BEREEREG VY Ge H25.9.11 | H259.11 <46 <54 <10
9 %§§J>7‘ rER BRIl — I REY avh — BERRERE V- Ge H25.9.10 | H25.9.11 <58 <30 <88
10 %f‘;%;yj EER B — FEE REY TRINGHR TRER S EERBRERE I Ge H25.9.10 | H25.9.11 <45 <39 <84
1 %f*ﬁ oy | BER =kan — I REY ERE — BERRERE V- Ge H25.9.10 | H25.9.11 <48 <42 <9
12 %f‘;%;yj EER B — FEE REY E—<v — EREREERE VS Ge H259.9 | H259.11 <56 <55 <1
o (FRE_ | mem | amw — FHER | REN s=hvh MRS |[EBRAREAE - Ge | H2seo | Hsoar | <28 | <28 | <8
14 %f‘;%;yj BEER B — FRE MR BEY eSS — EERBRERE I Ge H25.9.10 | H25.9.11 <36 <34 <7
15 %f“ﬁ),,j rER =5 2L — FeimBE R REY TR — BERRERE V- Ge H25.9.10 | H25.9.11 <6.2 <42 <10
16 %f‘;%;yj BEER BEAM — FEE REY avwyr — EREREEREG VS Ge H25.9.10 | H25.9.11 <56 <54 <11
17 %f*ﬁb,j rER =5 2L — FeimBE R REY =3 — BERRERE V- Ge H25.9.10 | H25.9.11 <39 <48 <8.7
18 %f‘;%;yj BEER BEAH — FEE REY =Ty — EREREERE VS Ge H25.9.10 | H25.9.11 <6.1 <40 <10
19 %f*ﬁ )y | BER EgAHM — MBS REY & — BEERREREG VS Ge H25.9.10 | H25.9.11 <44 <40 <84
20 %f‘g’fp,j BEER BEAH — FEE REY NTHA — BEREEREG VY Ge H25.9.10 | H25.9.11 <37 <41 <138
o (FRE | man | #@sm® — FHER | REN Iayay— - L Ge | H2sor0 | Hsenr | <57 | <aa | <o

22 %f‘;%;yj BEER BEAH — FEE REY FRINGHR — EERBRERE I Ge H25.9.10 | H25.9.11 <44 <45 <89

23 %f“ﬁ),,j rER BgAM — I REY FRINGHR — BERRERE V- Ge H25.9.10 | H25.9.11 <59 <51 <11

24 %f‘;%;yj BEER BEAH — FEE REY TRINGHR TRER S EERBRERE I Ge H25.9.10 | H25.9.11 <39 <32 <74

» (FRE | man | #@sm® — FHER | REN s=hvh MRS |[EBRAREAE - Ge | H2sor0 | Hsenr | <se | <as | <

26 %f‘;%;yj BEER BEAM — FEE REY S=hRh TRER S EERBRERE I Ge H25.9.10 | H25.9.11 <31 <29 <6

n (FBE | man | #@sm® — FER | RED s=hvh WS |BBRERGALYS— Ge | H2sor0 | Msen | <34 | <24 | <58

28 %f‘;%;yj BEER aEm — FEE REY koA — EREREERE VS Ge H259.6 | H259.11 <32 <23 <55

29 %§§J>7‘ rER BEm — I REY ThE — RERRRRE V- Ge H259.6 | H25.9.11 <46 16.5 17




i & #EE (Ba/ke)
NO | WMELTH T | e i ) | e BB s, 2w EBED RERE BEE | @D | wmn | 0% | 0197 | ost
30 %f*ﬁ 7 HaEm — JERIB G PrALE EEREERE VS Ge H25.9.6 | H25.9.11 <40 3.33 3.3
31 %f‘;%;yj BF T — FERE R E—<v EERBRERE I Ge H25.9.10 | H25.9.11 <58 <40 <9.8
32 %:%E )5 HEATH — JERIB G roEQOY EEREERE VS Ge H25.9.6 | H25.9.11 <38 <46 <84
33 %ff’fp,j BF T — FERE R 24N EERBRERE I Ge H25.96 | H259.11 <35 <31 <6.6
34 %f*ﬁ 7 LT — JERIB G BRARETXF EEREERE VS Ge H25.9.9 | H25.9.11 8.71 17.9 27
35 %f‘;%;yj AT — FRE R HRF v EERBRERE I Ge H2599 | H25.9.11 <41 <40 <81
36 %:%E 7 RS — JERIB G ooy EEREERE VS Ge H25.9.9 | H25.9.11 <38 <39 <17
37 %f‘;%;yj AT — FRE MR =l EERBRERE I Ge H2599 | H25.9.11 <41 8.52 85
38 %f*,ff % LT — JERIB G HhE EEREERE VS Ge H25.9.9 | H25.9.11 <41 <39 <8.6
39 %f‘;%;yj masm — FRE MR "FUh EERBRERE I Ge H2599 | H25.9.11 <46 471 47
40 %f*,ff % LT — JERIB G a2 EEREERE VS Ge H25.9.9 | H25.9.11 <56 7.26 7.3
M %f‘;%;yj AT — FRE R a0 EERBRERE I Ge H2599 | H25.9.11 <55 4.21 42
42 %§§J>7‘ LT — JERIB G N = EEREERE VS Ge H25.9.10 | H25.9.11 <33 <38 <11
43 %f‘;%;yj FEm — FERE R ooy EERBRERE I Ge H25.9.10 | H25.9.11 <57 <38 <9.5
44 %:%E 7 FEM — JERIB G ¥ EEREERE VS Ge H25.9.10 | H25.9.11 <43 <5.1 <9.4
45 %f‘;%;yj fFE — FRE R Sk EERBRERE I Ge H25.9.10 | H25.9.11 5.02 1.7 17
46 %f“ﬁ),,j fFEm — JERIB G EOAANAY EEREERE VS Ge H25.9.10 | H25.9.11 <55 <71 <13
47 %f‘;%;yj fFE — FRE MR A0y EERBRERE I Ge H25.9.10 | H25.9.11 <45 <22 <6.7
48 %:%E 7 S HTET — JERIB G ¥ EEREERE VS Ge H25.9.10 | H25.9.11 <44 <36 <8
49 %f‘;%;yj SEHTHT — FERER EOANAY EERBERALVE— Ge H25.9.10 | H25.9.11 <85 <6.5 <15
50 %:%E 7 S HTET — JERIB G ¥ EEREERE VS Ge H25.9.10 | H25.9.11 <48 <44 <9.2
51 %f‘;%;yj = RET — FRE R = EERBRERE I Ge H25.9.10 | H25.9.11 <45 <46 <941
52 %f“ﬁ),,j = R ET . JERIB G EOAANAY EEREERE VS Ge H25.9.10 | H25.9.11 <55 <54 <11
53 %f‘;%;yj JIHRET — FERE R E—<v EERBRERE I Ge H25.96 | H259.11 <48 <34 <8.2
54 %f“ﬁ),,j JIHRET — JERIB G ES EEREERE VS Ge H25.9.6 | H25.9.11 <6.1 <39 <10
55 %ff’fp,j JIRET — FERE R ==y EERBRERE I Ge H25.96 | H259.11 <32 <26 <5.8
56 %f“ﬁ),,j JIHRET — JERIB G FR EEREERE VS Ge H25.9.6 | H25.9.11 <6.0 <41 <10
57 %f‘;%;yj Elgtts) — FERE R FRINGHR EERBRERE I Ge H25.9.10 | H25.9.11 <41 <37 <18
58 %§§J>7‘ Elg-ACEs — JERIB G TRINGHR EEREERE VS Ge H25.9.10 | H25.9.11 <58 <55 <11
59 |REH Elgtts) — FERE R FRINGHR EERBRERE I Ge H25.9.10 | H25.9.11 <53 <44 €9.7

=YY
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NO | WMELTH T | e i ) | e BB s, 2w EBED RERE BEE | @D | wmn | 0% | 0197 | ost
60 %f*ﬁ 7 FEIEAT — JERIB G AT IRA — EEREERE VS Ge H25.9.5 | H25.9.11 <39 <35 <14
61 %f‘;%fp,j E=1) — FRE R AT A — EREREERE VS Ge H2595 | H25.9.11 <59 <46 <11
62 %f“ﬁ 7 FHIEAT — JERIB G ooy — EEREERE VS Ge H25.9.9 | H25.9.11 <41 <52 <9.3
63 %f‘;%;yj E3= i) — FERE R FRINGHR — EERBRERE I Ge H25.9.10 | H25.9.11 <41 <40 <8.1
64 %f*,ff % FRIEHET — JERIB G FRINGHR — EEREERE VS Ge H25.9.10 | H25.9.11 <41 <41 <8.8
65 %f‘;%;yj E=1) — FERE R FRINGHR — EERBRERE I Ge H25.9.10 | H25.9.11 <63 <40 <10
66 %:%E I FRIEET — JERIB G S= s MEER A EEREERE VS Ge H25.9.10 | H25.9.11 <28 <24 <5.2
67 %f‘;%;yj AEHHET — FRE MR HYRME — EEEREREVA— Ge H25.9.10 | H25.9.11 <46 <47 <93
68 %f“ﬁb,j E=3= £330 — JERIB G HRFv — EEREERE VS Ge H25.9.9 | H25.9.11 <49 <52 <10
69 %ff’fp,j REXER — FERE R ooy — EERBRERE I Ge H259.9 | H259.11 <34 <36 <
70 %f*ﬁb,j SRIB — JERIB G EEE S — EEREERE VS Ge H25.9.10 | H25.9.11 <42 <31 <13
Ul %f‘;%;yj SRIBH — FERE R oA — EERBRERE I Ge H25.9.9 | H259.11 <49 <45 <9.4
72 %f“ﬁ 7 SRIBHHS — JERIB G ooy — EEREERE VS Ge H25.9.9 | H25.9.11 <5.1 <36 <8.7
73 %f‘;%;yj SRIBH — FRE MR e — BEREERES VY Ge H259.9 | H259.11 <33 <42 <15
74 %:%E 7 SRIB — JERIB G AV % — EEREERE VS Ge H25.9.9 | H25.9.11 <39 <22 <6.1
75 %f‘;%;yj SRIBH — FRE R A% — EERBRERE I Ge H2599 | H25.9.11 <37 <35 <12
76 %:%E 7 SRIB — JERIB G AV % — EEREERE VS Ge H25.9.9 | H25.9.11 <37 <44 <8.1
77 %f‘;%;yj SRIBH — FRE MR E—<y — EERBRERE I Ge H2599 | H25.9.11 <41 <30 <74
78 %f*ﬁ 7 SRIB . JERIB G E—<y — EEREERE VS Ge H25.9.9 | H25.9.11 <32 <28 <6
79 %f‘;%;yj LT — FRE MR R — EERBRERE I Ge H2599 | H25.9.11 <25 <30 <55
80 %f*,ff % o BT — JERIB G HhE — EEREERE VS Ge H25.9.9 | H25.9.11 <29 <41 <1
81 %f‘;%;yj o BT — FRE R Jayay— — EERBRERE I Ge H2599 | H25.9.11 <50 <6.0 <11
82 %fffb,j =&HT — JERIB G HhE — EEREERE VS Ge H25.9.10 | H25.9.11 <39 <42 <8.1
83 %f‘;%fp,j =t — FERE R =F ) — EERBRERE I Ge H25.9.10 | H25.9.11 <48 <42 <9
84 %f*,ff % KEFHWTH — JERIB G 91 — EEREERE VS Ge H25.9.10 | H25.9.11 <46 <37 <8.3
85 %f‘;%fp,j KFEEWT — FERE R 21 — EERBRERE I Ge H25.9.10 | H25.9.11 <49 <42 <9.1
86 %f*,ff % LhET — JERIB G AR — EEREERE VS Ge H25.9.9 | H25.9.11 <44 <44 <8.8
87 %f‘;%;yj LWhEm — FERE R HRR — EERBRERE I Ge H25.9.9 | H259.11 <40 6.26 6.3
88 %:%E IS, WhET — JERIB G REF — EEREERE VS Ge H25.9.9 | H25.9.11 <30 3.68 3.7
go | WhET — FERE R RAEF — EERBRERE I Ge H25.9.9 | H259.11 <37 7.78 7.8

=YY
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NO | WMELTH T | e i ) | e BB s, 2w EBED RERE BEE | @D | wmn | 0% | 0197 | ost
20 %f“ﬁ )5 Biarm — JERIB G BAFY EEREERE VS Ge H25.9.9 | H25.9.11 <30 <41 <11
91 %f‘;%fp,j Biar — FERE R BAFY EERBRERE I Ge H25.9.9 | H259.11 <30 <32 <6.2
92 %f“ﬁ )5 Bialm — JERIB G BAFY EEREERE VS Ge H25.9.9 | H25.9.11 <21 <25 <5.2
93 %f‘;%fp,j Biarm — FERE R 21 EERBRERE I Ge H259.3 | H259.11 <56 <46 <10
94 %:%E 7 E%Am — JERIB G 1F29 EEREERE VS Ge H25.9.9 | H25.9.11 <36 <30 <6.6
95 %f‘;%;yj EgHT — FRE R h¥x EERBRERE I Ge H25.9.10 | H25.9.11 <38 <29 <6.7
9 %:%E 7 E%A™ — JERIB G 91 EEREERE VS Ge H25.9.9 | H25.9.11 <45 <54 <9.9
97 %f‘;%;yj EgHM — FRE MR 91 EERBRERE I Ge H2599 | H25.9.11 <38 <40 <18
98 %:%E 7 E%A™ — JERIB G mEF EEREERE VS Ge H25.9.10 | H25.9.11 <45 <32 <17
99 %f‘;%;yj E%AM — FERE R BARFY EERBERAEVE— Ge H25.9.10 | H25.9.11 <43 <35 <18
100 %f“ﬁb,j E%Am — JERIB G BAFY EEREERE VS Ge H25.9.10 | H25.9.11 <39 <37 <16
101 %f‘;%;yj s — FERE R 1F2Y EERBRERE I Ge H25.9.9 | H25.9.11 <56 <43 <9.9
102 %f“ﬁ )5 HET — JERIB G 1F29 EEREERE VS Ge H25.9.9 | H25.9.11 <41 <35 <8.2
103 %f‘;%;yj s — FERE R AF2Y EERBRERE I Ge H25.9.9 | H25.9.11 <53 <48 <10
104 %:%E 7 RS — JERIB G 1F29 EEREERE VS Ge H25.9.9 | H25.9.11 8.54 15.9 24
105 %f‘;%;yj masm — FERE R AF2Y EERBRERE I Ge H25.9.9 | H25.9.11 <6.7 14 14
106 %:%E 7 RS — JERIB G 1F29 EEREERE VS Ge H25.9.9 | H25.9.11 13.3 296 43
107 %f‘;%;yj masm — FERE R AF2Y EERBRERE I Ge H25.9.9 | H25.9.11 <79 <55 <13
108 %f“ﬁb,j RS — JERIB G 1F29 EEREERE VS Ge H25.9.9 | H25.9.11 <58 <6.9 <13
109 %f‘;%fp,j AEM — FERER 1F2Y EERBRERE I Ge H25.9.10 | H25.9.11 <6.7 <52 <12
110 %f*ﬁb,j AEM — JERIB G TrY EEREERE VS Ge H25.9.10 | H25.9.11 <21 <21 <54
111 %ﬁfﬁ,y REH — FERE R yo3 EERBRERE I Ge H25.9.10 | H25.9.11 <43 475 48
112 %f*ﬁb,j SRAET — JERIB G TrY EEREERE VS Ge H25.9.6 | H25.9.11 <41 <36 <17
113 %ff’fp,j ElgAts) — FERE R EE EERBRERE I Ge H25.9.10 | H25.9.11 <43 <28 <11
114 %f*ﬁb,j LR A — I o3 BERRERE V- Ge H25.9.10 | H25.9.11 <55 <52 <11
115 %f‘;%;yj FEEET — FRE R TE EERBRERE I Ge H25.9.10 | H25.9.11 <32 <23 <55
116 %f*ﬁb,j FEE CET — JERIB G TrY EEREERE VS Ge H25.9.10 | H25.9.11 <21 <25 <5.2
117 %ff’fp,j bty — FERE R 21 EERBRERE I Ge H25.9.9 | H25.9.11 <66 <40 <11
118 %f*ﬁb,j =t — JERIB G 91 EEREERE VS Ge H25.9.6 | H25.9.11 6.24 9.1 15
119 %ff’fp,j =&HT — FERE R 21 EERBRERE I Ge H25.9.6 | H25.9.11 <47 9.08 9.1
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NO | WMELTH T | e i ) | e BB s, 2w EBED RERE BEE | @D | wmn | 0% | 0197 | ost
120 %f“ﬁ )5 ki) — JERIB G 1F29 — EEREERE VS Ge H25.9.9 | H25.9.11 <24 <30 <54
121 %f‘;%;yj HHhET — FERE R 1F2Y — EERBRERE I Ge H25.9.9 | H25.9.11 <15 <6.1 <14
122 %f“ﬁ )5 gk — JERIB G 1F29 — EEREERE VS Ge H25.9.9 | H25.9.11 <41 <38 <19
123 %f‘;%;yj HHhET — FERE R AF2Y — EERBRERE I Ge H25.9.9 | H25.9.11 <35 <26 <6.1
124 %:%E % ki) — JERIB G 1F29 — EEREERE VS Ge H25.9.9 | H25.9.11 <57 <43 <10
125 %f‘;%;yj il — FRE R 1FSH — EERBRERE I Ge H259.9 | H259.11 <6.9 5.14 5.1

126 %fffb,j ZAWT — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <1 <70 <18
127 %f‘;%fp,j A — FERER 4R — EERBRERE I Ge H25.9.11 | H25.9.11 <9.0 <81 a7
128 %f“ﬁb,j Al — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <93 <6.2 <16
129 %f‘;%fp,j A — FERE R 4R — EERBRERE I Ge H25.9.11 | H25.9.11 <88 <89 <18
130 %f“ﬁb,j BT — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <78 <176 <15
131 %f‘;%fp,j BF T — FERE R 4R — EERBRERE I Ge H25.9.11 | H25.9.11 <72 <13 <15
132 %§§J>7‘ /NPT — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <13 <13 <15
133 %ff’fp,j LWhEm — FERE R 4R — EERBRERE I Ge H25.9.11 | H25.9.11 <15 <72 <15
134 %f“ﬁb,j WhET — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <83 <95 <18
135 %ff’fp,j LWhEm — FERE R 4R — EERBRERE I Ge H25.9.11 | H25.9.11 <176 <78 <15
136 %f“ﬁb,j WhEM — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <84 <78 <16
137 %ff’fp,j LWhEm — FERE R 4R — EERBRERE I Ge H25.9.11 | H25.9.11 <83 <78 <16
138 %f“ﬁb,j WhET — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <938 <13 <17
139 %ff’fp,j &I BT — FERER 4R — EERBRERE I Ge H25.9.11 | H25.9.11 <83 <6.5 <15
140 %fffb,j dlIES) — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <86 <6.8 <15
141 %ﬁf’;,y . N N — FERE R 4R — EERBRERE I Ge H25.9.11 | H25.9.11 <79 <9.1 a7
142 %f“ﬁb,j 'EM — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <84 <72 <16
143 %f‘;%fp,j SRRHET — FERE R 4R — EERBRERE I Ge H25.9.11 | H25.9.11 <9.0 <80 a7
144 %f“ﬁb,j Al — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <1 <85 <20
145 %f‘;%fp,j FEA — FERE R 4R — EERBRERE I Ge H25.9.11 | H259.11 <94 <176 a7
146 %f“ﬁb,j BT — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <93 <83 <18
147 %f‘;%fp,j BEM — FERE R 4R — EERBRERE I Ge H25.9.11 | H25.9.11 132 7.99 21

148 %fffb,j JI{RET — JERIB G L3 — EEREERE VS Ge H25.9.11 | H25.9.11 <89 <85 <17
149 |REH BEM — FERE R 4R — EERBRERE I Ge H25.9.11 | H25.9.11 8.57 <6.6 86
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Ei &t B #5 R (Ba/ke)
RAEEG | WEAR | DA | e, SO | FEER ) BE RE% P L) R, BREME par | 228 BR | oo | ooty
R, | wem | mmam — FHER | EEN 4 - ERRRRNA L 5— Ge | H2sonl | Hsear | <72 | <70
%f‘;%;yj BER | RBRTEH — SERE BEY 47 — BERREREGEVS— Ge H259.11 | H259.11 <85 <15
R, | wem | zmmre — FHER | wEN 4 - e Ge | H2soM1 | Hsoa1 | <80 | <70
Ry | mmm | mamTEr — FmER | EEN 4 - EERERMA L S— Ge | M9l | HZsdr | <71 | <56
R, | mem | T — FHER | wEN 4 - ERRRRNA L 5— Ge | H2sonl | Hsorr | <78 | <so
%f‘;%;yj BER ARl — SERE BEY 47 — BERREREGEVS— Ge H259.11 | H259.11 <93 <79




